Chapter 1
Expressions, Equations, and Functions

Ny
1. Simplify 6a + 15a. Ao
Q
2. Write an algebraic expression for b to the second divided by ¢ to the fourth. _k’__
cH
3. State the range of the relation {(1, 6), (-2, 3), (5, 7), (5, 9)}. i 3 il '._" qg
4. Evaluate 171 + 3% + 4. IF17a+4 = \AiH =33
. . _ v 4 48
5. Make a table showing the cost of buying 1 to 5 CDs if CDs cost $12 each. 2 24 &« &
3 306
6. Solve the equation 6(n —1) +2 =n(4 +2) + 4. “H4FH o Soluhim
7. Write a verbal expression for the algebraic expression (2 - y) x 6. 10\ - (‘,j
8. Find f{-11)if f{x) = -3x — 25. ~3=)-a5= 9
9. Use the Distributive Property to simplify 11(v —2). \\\i - >
10. Find the solution of 2(x — 5) = 30 , A\ -
if the replacement set is {19, 20, 21, 22}. a (. 9‘9 - 5) =30
a(15)=30
Chapter 2 30=30
Linear Equations
1. Solve th tion 3x + y = 6 for x. - V= (e .
olve the equation 3x + y or x 5)‘4\,\3 6 ,_53-)(‘_(_0,3) y= o |
2. The formula 4 = [w finds the area of a rectangle. What is the width of aTectangle whose a‘r%a is 60
square inches and whose length is 5 inches? (D =5X% w = LB
3. Solve 15(s—3) = 125 — 43. 3s=3  g= 3/3
4. A number minus seventeen is negative twelve. Find the number. n -\7| = -\ 5, n= 5

|9,

|
. Solve g(45y—18):15(y+1) \53-(;"—' \S\a+\’5 NO Solohvm

6. Translate the sentence into a formula. The area of a trapezoid is equal to one-half times the sum of

the bases times the height. n = \ 7 i
= b ) :
g (oirba)-h
7. Solve 9x — 11 = -56. = 5

8. Solve |c—2|=10 C=la, ¢c= -%
9. A department store is having a 30% off sale for all clothing items. What is the discount price of a
pair of blue jeans that normally cost $39.99? A0 N bq Q9

oo~ 3qaq 1199

3 20.



Chapter 3
Linear Functions

1. Evaluate 3*. =5
2. Graphy +2=1. \3:5 @
3. Graph y =2x + 5.
4. Graph the line has a slope of %2 and passes through (2, -4)?
5. Solve the equation 3(++2) — 4=14 algebraically. 2t =13 @.
6. Which of the following is the x-intercept of the gra};th :f ‘gx y=15?
a8 ‘ﬂf‘q&'i Ax-0=5 %=9q
7. Evaluate: Y when x = 3,y=2,and z = 19.
8. Write an equaiion in function notation for the relation graphed here
Y
)L_
o}{ X %—: % Q
j= ax-4
Chapter 4

Linear Functions and Relations

1. Choose the slope-intercept form of the equation of the line that passes through ( 2 4) and is
perpendicular to the graph of 2x + y = -20. 3 —IX-20 m= l (-3, lﬂ ( }) +b

9, LX1—5 T S Li—-)&b 5-b
2. Write an equation of a line that passes through (-12, -14) with slope —

W= BEWad o= -101b  4=b 0 y= Ty

3. Which equation describes the line that contains the points (-5, 2) and (3, 7)?

m= 2 4= Z(-5)td 2= -3 4b b=yl .5, .4
: 69 ; s 2
4. Write the point-slope form of an equation for a @M{hat passes through (-15, 11).

5. Which equation is the slope-intercept form of the equation of the line that passes through (1, 2) and is

parallel to 4x - 2y = 6? ,93 »A;HQ 3:3%-5 A= 9");5 5:9)(—&'0
- O =

6. Write an equation of the line whose slope is 2 and whose y-intercept is —2.

Y= 3x-3



Chapter 5
Linear Inequalities

1. Solve and graph the inequality 3x —4 =2 2x—7 XZ-2 é“":a’“f'é
43 -2
2. "Twice a number increased by four is less than the difference of three times that number and five."

An4l < 3n-5

3. Solve |8x + 2| <42. FREYO ¥ x¥y2>-43 e

X< S §x>-ut X7 9 | 15
4. Graph the inequality of 4x + 3y > -15 _@_YZ:_L_}X r

5 2 3
5. Solve 16(t— 1)+ 10> 8(r +2) +4(1— 1)+ 4t.  no Soluohoen
\ » Ap- s -1 d

6. Solve and graph [3x -6 |>42. A7 48 A 7\b 2392 -3k Y < 13
7. Solve the inequality S5y + 8 > 4y - 3. 9 > =11
8. Solve and graph —4 <-5x—-9 <11. ._%_4 ’%} 4—%—2 ke Li

9. Solve -15k> -120.

K<3 , \32.&
.

Chapter 6
Systems of Linear Equations and Inequalities

1. If g(x) = x* + 3x - 2, find g(-2). S\Tﬂ _ 4-b-9=-2-3= -1

¢

y=—x+4
2. Graph the system

y:‘l;gx—“'

3
1 g x=aby
3. Use substitution to solve the system a 2y 4 L‘\j’ é’(\ﬁﬂ”“‘) =12 X = -0
4y —6x=12 L“j__&jfgq_:\a
y=-3 (1o, 12)

4. The sum of two numbers is 36. Twice the first number minus the second is 6. Find the numbers.

I}, 22

o . Sx+3p=3 X:—B
5. Use elimination to solve the system of equations

3x+4y=15 \j: b

6. Jeanette and Stacy went to the ice cream shop after dinner, but lost their receipt after paying. Jeanette
knows she spent $4.40, and Stacy spent $5.20. If Jeanette bought 2 scoops of ice cream and 3 pieces of
chocolate, and Stacy bought 3 scoops of ice cream and 1 piece of chocolate, how much does each item

cost? $1.60 $0.40
jce Cream choColote

4



Chapter 7
Polynomials

1. Simplify (7a'b) 8a7b%). 5l a''b?

P2
VPR S o &
20x%y 27 5\
3. Express 47.5 x 107 in scientific notation. 0004 75

4. Name the polynomial 4x* —3x+6. Finom: o

5. What is the degree of 6x —2x* +3x* —2x” +8x—97? 4

6. Find (x + 3)(x - 5). 12 -ax-15
7. Find (3a + 4b)? qo® +3d ab +16b°
8. Write an expression for the area of the rectangle. X?)’._L\ )\Q +5X
e, . 480 -3ax +40
— XbT»L}xa_-Q_?)(-“—iD

0. Simplify 52k>—3k)— 6k (<K +k—7).  10A-VSK ¥ b’ -6k + 4Lk
10. Find (4x% + 3x) + (7x*> — 5x — 6). G2 4+ ratic

XA -Ax-6
Chapter 8
Factoring and Quadratic Equations

1. Factor by using GCF 14x” - 28)* + 56. CHY x"’\ - 2 ‘3% + LD

2. Factor 8ac + 12ad + 10bc + 15bd. (Grouping o rio) (40 &5 b) (ac ‘*33)
3. Factor 2%+ dy— 12, 20K ¥2%0)

4. Factor 4y* — 9, (29 +2) (2y-3)

5. Find the GCF of 14¢2c and 56ab’c® Hab?e

6. Solve x> —x—72=0. -y A8) =o w=94 k=-&

7. Factor 124% + 30ab? 20D (O +\5b)

8. Factor 3x* — 8x - 3. (3y +1) A~ 3)

. Solve the following: (¢ + 2)2 =25, c‘/ = '1 q',: -

O

10. Factor the monomial Z2xz° completely. |.2.2-2 22 NRTZ
|.2% x 2T



Chapter 9
Quadratic and Exponential Functions -

1. Determine if the graph of the equation y = + 6x + 1 is a minimum or a maximum.
grap q y=Cx mInimum ¢

2. How many roots does the equation 9x° +12x —4 ? a \3?“ 4 L(\) (71'0
144 1144=2% ¥

3. Use the quadratic formula to solve X +2x-8=0.

%= b Vo s X=-H X =3
2 0=
4. Describe how the graph g(x) = (x+2)? is related to the graph of f(x)=x".
8t Lot
5. Given y=3x"-12x-5. Find (a) axis of symmetry (b) vertex (c) min or max (d) y-intercept
)= k=2 ) -

(e) roots (2-) ) (O/ 5)

-0 %8, 4y,5¥

6. Complete a table and graph for f(x)= Jx+2. Also graph the parent!
0l 2

413
d

Chapter 10

Radical Functions and Geometry

1. Simplify (2++3)% . Qa3 E3 = T AT3
SN
2. Simplify 3+/5 /3 =245 +44/3-4/5. 5 -\ +313 A
o \Q- DV &
3. Simplify —— A2 _ oL § = iR
W2 | T M
4. Simplify vx—-4+5=16. \ = \as

5. Simplify 4/60x’y'z . Q)(\lg‘ \ 15X Z
— Y
6. Simplify Tf14 - 3+/10 b X140 (o \}T\ ‘rgs 1aN 29
—
7. Simplify /140 \a\35



Chapter 11
Radical Functions and Equatlons

1. State the excluded values of _Zx_—4_ L\/\.—)JU\‘@) =
x* ~3x+6 B =3
| $2 K=
J ping Jab 2lab 60 bt 3
. Find —— —— = — vt =
7a*b>  6b' Yo atbl 7 b
a) , . ol - —lage)
3. Express in simplest form. - - “'
L—@c% 0~ G -l
4. Find an expression for the perimeter of the rectangle.
LE2 dmyln
\m + 2n
A
5. Solve : + ! = 2 . —~
x+3 x-4 (x+3)(x—-4) Y= 5’(;; \b
xy2
R A
6. Simplif
z Z' X

x+6 Sx=2x+la bx=12 N=d

7. Solve the proportion g— = =

, .
¢ ping /= 4h=60 _h+6 (h=10)(h—)
l—56 - 5'
32 ae-»-20-4 0 b

9. Find - o 3

a+2 a-1 (O\\-l))( CL‘D (Ok*l\\.c\"\
10. If y varies inversely as x and y = 4 when x = /2, what is y when x = 37 H ! - 31

2 =3

11. Find the zeros of f(x):#_z— *‘293 g‘,} = ‘

2
X" —4x-32



